Elements Q(x,¥,Y,) =0 Solutions Type Solution
1 I, (0) -y, (x°y?) =0 y(x)=0,y(x)=c Trivial
2 11, ©0)-y,(x*)=0 y(x)=c Trivial
3 I 3y 2y _ c Explicit
3 2y _ —
4 I, + 11, ¥ =y (x+xy?) =0 y(X)=+ 1 _ Explicit
WO i W) ghe
product log function.
o IT, + I, V) =% 0¢ +x7) =0 e Je" @ 1 x) Explicit
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X X
6 I1; +11, Y3 -y, 03y +xy2) =0 00— c yxz 1 Explicit
y B X
7 I, + 11 - 3y2) = i Explicit
1 4 (0) -y, (x+xy) =0 y(x)=i;,y(x):c p
3 I, +11, @) -y, +x3y?) =0 y(x) =+i,y(x)=c Explicit
9 T, + 11, =y +y) -y, 09%) =0 2 Explicit
y(x)==+
10 M+ (V- %) =0 J00 = ce Explicit
11 I, + I (Y)-y,(x)=0 y(X) = cx Explicit
12 =211, + 1, + 1, () -y, (°y? —=2x) =0 e A 12 Explicit
+- 1= " e
X
X) ==+
y(x) A
13 IT, + I +11, ¥ -y, (2 + 33 +x8y2) =0 EXpllClt
2 2 4
y(x)_ilJ_liM—lﬁcx_l
4\ cox® ox? c
14 Hl + H2 +H4 (0)7yx(x3+x3y2+x)=0 ’_XZ -1 EXleClt
y(x) ==+ < y(x)=c
15 M+M0;+M,+1s | (=93 —y.(x3y? + Implicit
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